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Solution
Multiple Linear Regression
H0: Soil moisture content, depth of seed, amount of fertilizer, and outside air temperature at planting do not affect soybean crop yield.
Ha: Soil moisture content. depth of seed, amount of fertilizer and outside air temperature influence the soybean crop yield.
If doing a check of each item individually, depth of seed, amount of fertilizer and outside air temperature are all correlated to crop yield.  However, the soil moisture content is not.
Soil moisture content			Pearson = -.056		P Value = .73
Depth of seed				Pearson = .976		P Value = 0
Amount of fertilizer			Pearson = .314		P Value = .048
Outside air temperature at planting	Pearson = .970		P Value = 0
However, when doing a multiple linear regression, the amount of fertilizer is no longer significant.
Minitab results: P Value for each term and regression equation are shown below.  The residuals for this equation are not normal – but are highly skewed.  If the soil moisture content term is dropped from the equation, the residuals look much better.  Dropping the amount of fertilizer adds a minor improvement to the residuals.
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Regression Analysis: Crop yield ( versus Soil moistur, Depth of see, Amount of fe, ...

Analysis of Variance
Source DF  Adj S5 Adj MS F-value P-value
Regression 4 131.586 32.8965 307.43  0.000
Soil moisture content (%) 1  0.240  0.2396 2.2 0.144
Depth of seed (mm) 1 3.972  3.9724  37.12  0.000
AEmount of fertilizer (kg) 1  0.001  0.0007 0.01  0.932
outside Temperature (°C) 1 2.054 2.0535  19.19  0.000
Error 35 3.745  0.1070
Total 39 135.331
Model Summary
s R-sq R-sq(adj) R-sq(pred)
0.327116 97.23% 96.92% 96.27%
Coefficients
Term Coef SE Coef T-Value P-Value  VIF
constant 29.366  0.589  49.83  0.000
Soil moisture content (%) 0.803  0.536 1.50  0.144 1.1
Depth of seed (mm) 0.2736  0.0449 6.09  0.000 11.70
Amount of fertilizer (kg) 0.00083 0.00997 0.08  0.934 1.19
outside Temperature (°C) .2932  0.0669 4.38  0.000 11.30
Regression Equation
Crop yield (bushels) = 29.366 + 0.803 Soil moisture content (%) + 0.2736 Depth of seed (mm)
+ 0.00083 Amount of fertilizer (kg) + 0.2932 Outside Temperature (°C)
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